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QUESTION 1

Which Juniper DX SSL setting supports the greatest number of client browsers? 

A. sslv2 

B. sslv23 

C. tlsv1 

D. sslv3 

Correct Answer: B 

 

QUESTION 2

Which two statistical data types are available on the statistics page of the WebUI?(Choose two.) 

A. Request AppRules/Page AppRules 

B. Connections Accepted/Connections Refused 

C. Bytes In/Bytes Out 

D. Cache Hits/Cache Misses 

Correct Answer: BC 

 

QUESTION 3

Which AppRule type should an administrator use to rewrite web server content? 

A. RTH 

B. RS 

C. PTC 

D. PTH 

Correct Answer: C 

 

QUESTION 4

In Unified Failover, if a Juniper DX appliance loses power, how does a standby unit assume the new master role? 

A. The standby unit injects the VIP into the network using BGP4 

B. The standby unit assumes the master\\'s VIPs. 
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C. The standby unit assigns its ether0 address to its VIP and advertises its new role to the network. 

D. The standby unit injects the VIP into the network using RIP or OSPF. 

Correct Answer: B 

 

QUESTION 5

Which three transport methods are used to transfer a TCP dump? (Choose three.) 

A. SMTP 

B. SCP 

C. TFTP 

D. HTTP 

E. FTP 

Correct Answer: ABC 
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